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i? = jP=K=-1 (10)
ij = -()=k (11)
ko= —(kj) =1 (12)
ki = —(ik) =] (13)
ik = -1 (14)

00000000,0000000000000. 0 =S +iUp+ jvi+kwy, 0o = Sp+iUp +
jV2+kVV2,Q3:SB+iU3+jV3+kW3DDDD q:g:qlquDD,

S = S5 — Ul — ViVo — WiWo (15)
U3 = Silp + Ui + ViWo — Wi Vs (16)
V3 = SiVo— UWo + V1S + Wiy a7
W3 = SWo+ UV — Vil + Wi S, (18)
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qq = (WW — W) + (W + WV + 7 X V) (19)
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g = w-ix-jy—-kz (20)
qq = W+ X2 +y+7 (21)
ol = Vad= VW2 + 24y + 2 (22)

gob.0bbbooogbobobuoooobbboooobbbooobobobooon.
gb,000b000buo0bgoboboooboob.
O0(xyz) DODODOOO,000000600O0D0OCOO000UOODODOOOOO.
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gbobbooogbbbuoooobbboodobobb,oobbbooobbbod.
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000,q=0;v)=(0;xy2,q/=0;vV)=0;xXy Z)DOOOQOO.
O00vOoDOODOOOOOvOoOOODODODOoOOoOoO.
0000000000000 D00O0ROOODODOOOOODOOOO.

000000 1. Rguaternion.txt

(25)

radtoqu <- function(r, v)

{
# 00 00vOOOODOOOTrCrad) Od
cr <- cos(r/2)
sr <- sin(r/2)
Q <- c(cr, v[1]*sr, v[2]*sr, v[3]*sr)
return(Q)

}

quprod <- function(qg, r)
{
# 000 D0ODO0OOOOO
<- q[11*r[1]-q[2]1*r[2]-q[3]1*r[3]-q[4]*r[4]
<- c(S, ql11*r[2]+q[2]*r[1]1+q[3]1*r[4]1-q[4]1*r[3]1)
<- c(S, q[11*r[3]+q[3]1*r[1]+q[4]1*r[2]-q[2]*r[4])
<- c(S, ql[11*r[4]1+q[4]1*r[1]1+q[2]1*r[3]1-q[3]1*r[2])
return(S)
}
rollqu <- function(q, r)
{
# D00 0D0D0OD0ODODUODODODUODqgUOUOOUOUODODUOrooOooOooooOoO
Q <- quprod(r, q)
R <- c(r[1], -r[2], -r[3], -r[4]D)
return(quprod(Q, R))
}

w nvw un n

# 00O
Ql <- radtoqu(pi/10, c(6, 0, 1))
Q2 <- radtoqu(pi/10, c(®, 1, 0))
X <-1
y <- 0
z <- 0
i<-1
while(i<=10){
Q.tmp <- rollqu(ec(®, x[il, y[il, z[il), Q1)
<- c(x, Q.tmp[2])
<- c(y, Q.tmp[3D)
<- ¢c(z, Q.tmp[4])
<- i+l

He N <M

}
while (i<=20){
Q.tmp <- rollqu(c(®, x[i], y[il, z[il), Q2)
<- c(x, Q.tmp[2])
<- c(y, Q.tmp[31)
<- c(z, Q.tmp[4])
<- i+l

He N <M

}

# OO0 0O0Oplot(D0 OO OODODDOODOOODODO)

library(scatterplot3d)

scatterplot3d(x, z, y, angle=20, col.grid="white", pch=16, color=grey(0:20/25))

gbgoboboboobod.
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gobbuoogbbbooobboooo,boubobobuooobbobuoooboboa
gobobooogbbo,gbbobuoobobbooogbobood.

000000000, 000b0b0oo00.(xyyz)DODODOOO,000000 60
goboooogoboobad.

X-2(1—cosf) +cosf XY (1-cosd) +2zsind xz(1l-cosh)+y,sing
R = | xYy(1-cosf) —zsingd v,%(1-cosh)+coséd V,z(1l-cosd) + x sing |(26)
X Z (1 —cosé) +Y,siné y;z(1-cosh) — X sind  z?(1 - cosh) + cosé
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© 0 N O s WN P

w NN RN NNNRNRNRNDNERRR B B 2 2 p R
REBBINBRIRBNREBEIELHEBERES

B8L88RERM

B8

S5&R288

RS

KD JNRERNRERN

OO00000 22 ARM.xt

radtomat <- function(r, v)

{
# 0000vO0OOOOOOOTr(rad)t O
sr <- sin(r)
cr <- cos(r)

ARM <- matrix(0,3,3)

ARM[1,1] <- v[1]"2 * (l-cr) + cr
ARM[2,1] <- v[1]*v[2] * (l-cr) - v[3]*sr
ARM[3,1] <- v[1]*v[3] * (l-cr) + v[2]*sr
ARM[1,2] <- v[1]*v[2] * (l-cr) + v[3]*sr
ARM[2,2] <- v[2]72 * (l-cr) + cr
ARM[3,2] <- v[2]*v[3] * (l-cr) - v[1l]*sr
ARM[1,3] <- v[1]*v[3] * (l-cr) - v[2]*sr
ARM[2,3] <- v[2]*v[3] * (l-cr) + v[1l]*sr
ARM[3,3] <- v[3]"2 * (l-cr) +cr

return (ARM)
}

# 000000
M1 <- radtomat(pi/10, c(®, 0, 1))
M2 <- radtomat(pi/10, c(®, 1, ®))
x <-1
y <- 0
z <- 0
ix<-1
while(i<=10){
v <- matrix(0,1,3)
<- c(x[il, y[il, z[iD)
.tmp <- Vv%*%M1
<- ¢c(x, M.tmp[1,1])
<- c(y, M.tmp[1,2])
<- c(z, M.tmp[1,3])
<- i+l

H N < X =2 <

}
while (i<=20){
v <- matrix(0,1,3)
<- c(x[il, y[il, z[iD
.tmp <- v%*%M2
<- c(x, M.tmp[1,1])
<- c(y, M.tmp[1,2])
<- ¢c(z, M.tmp[1,3])
<- i+l

H N < X =<

}

# 00 0O0Oplot(000O0ODDODDODDODDODOOOOO)

library(scatterplot3d)

scatterplot3d(x, z, y, angle=20, col.grid="white", pch=16, color=grey(0:20/25))
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OO0ooOoo0d 3: Samplel.cpp

VECTOR pos, cardan;
float v, r;
pos = VGet(0.0f, 0.0f, 0.0f);
cardan = VGet(0.0f, 0.0f, 0.0f);
v = 1.0f;
r = 0.05f
while ((dxlib_clearscreen() == 0)&&(CheckHitKey (KEY_INPUT_ESCAPE) == 0)){
// 000G0o0oooo0, boooooooao
pos = VAdd(VGet(-v*sin(cardan.y), 0, -v*cos(cardan.y)));
cardan = VGet(0®, cardan.y+r, 0);
// O0000o0oooao
MV1SetPosition(MHandle, pos);
MViSetRotationXYZ (MHandle, cardan);
// 00
MViDrawModel (MHandle);
}

gbbbuoogbbbooobbooobobbooobobboa,bbooobbod
gobbooogbobobooooboboooobbooooooog.
gbobboooobobbooodobbbooooobon.

000000 4 Sample2.cpp

VECTOR Axis; // 000

float rot; // 000 (radd 0O)
float FrontV; // 00000000
VECTOR Pos; // 00O

MATRIX Matr; // 000o0ooooao
Pos = VGet(0.0f, 0.0f, 0.0f);

FrontV = 10.0f;

Axis = VGet(0.0f, 1.0f, 0.0f);

rot = 0.05f;

while ((dxlib_clearscreen() == 0)&&(CheckHitKey (KEY_INPUT_ESCAPE) == 0)){
// 00000000000
MATRIX tempM = MV1GetMatrix(MHandle);
VECTOR tempv = VNorm(VTransformSR(VGet(0.0f, 0.0f, -1.0f), tempM));
Pos = VAdd(Pos, VScale(tempv, FrontV));
// 0000000000
Matr = MGetRotAxis(Axis, rot);
// O0000oog
mmultiple (tempM, Matr);

tempM.m[3][0] = Pos.x;
tempM.m[3][1] = Pos.y;
tempM.m[3][2] = Pos.z;

MV1iSetMatrix (MHandle, tempM);

// 00
MV1DrawModel (MHandle);

DXOOOOOOOOoOoDoDoO (MATRIXOODOO)ODODDDODODDODDODOOoOooooooOo.

m{O][0] m{O][1] m(O][2] m(O][3]
M = | MO maa miagez mijs] 27)
m2][0] m{2][1] m[2][2] m[2][3]

m3][0] m[3][1] m(3][2] m[3][3]
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Oobbodb4ax4000000,000D000DO00DO0OLOO3X30UbObOOOD.
oOo0,00b00bopoobooooooooobobooo.
gobbbooodgobbooooobood.

Xy Z1l=(XxyzD)M = (xyz1l)MsMgrMp (28)

gboboboboooboobobo,oboobo40000b1b0n,440bon
Oooooooooooo.opooo,MgOOOOOooo@ooo)yoooo Mmgooo
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0

1

(29)

o O O

RI2][0] Ri2][1] Ri2][2] (30)

0 0 0
1 0 O
0 1 0
0 0 1
| Xp YP Zp

(31)
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